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Supply and service condition

[BFN401] According to Porter, a nation's competitiveness is depended on, except:
Factor condition

[BFN401] According to Porter, a nation's competitiveness is depended on, except:
Factor condition

[BFN401] One of the followings is not a correct interpritation of the Equilibruim
Equation: C+1+G=C+S+T, where
| = Interest

[BFN401] One of the followings is not a correct interpritation of the Equilibruim
Equation: C+I+G=C+S+T, where
C = Consumption

[BFN401] One of the following is not an advantage of international finance.
It discourage production for foreign market

[BFN401] Which of the followings is not a reseason for international trade?
Social Equity cost

[BFN401] Bilateral trade is a trade among:
Between two countries

[BFN401] Multinational trade is a trade among:
Many countries

[BFN401] Some of the reseasons why trade across the national borders occurs
includes:
All of the above
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